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Run 4508 triggerwise, sums: All

Entries: 2903479

Mean: 4428.3546 +/- 2.6020

Std Dev: 4433.6750 +/- 1.8399

Run 4508 triggerwise, sums: All
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Run 4508 triggerwise, sums: Beam OFF

Entries: 6160

Mean: 1105.5966 +/- 7.8168

Std Dev: 613.5085 +/- 5.5273

Run 4508 triggerwise, sums: Beam OFF
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Run 4508 triggerwise, sums: Beam ON, Laser ON

Helicity==0

Helicity==1
Entries: 935886

Mean: 5043.1743 +/- 5.2536

Std Dev: 5082.4285 +/- 3.7149

Entries: 935776

Mean: 5058.3075 +/- 5.2660

Std Dev: 5094.0730 +/- 3.7236

Run 4508 triggerwise, sums: Beam ON, Laser ON
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Run 4508 triggerwise, sums: Beam ON, Laser OFF

Helicity==0

Helicity==1
Entries: 489677

Mean: 3274.1595 +/- 3.4264

Std Dev: 2397.6571 +/- 2.4228

Entries: 489403

Mean: 3284.7814 +/- 3.4499

Std Dev: 2413.4474 +/- 2.4394

Run 4508 triggerwise, sums: Beam ON, Laser OFF
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